April 2016

IT Passport Examination

Questions must be answered in accordance with thelfowing:

Question Nos. Q1 -Q100
Question Selection All questions are compulsory.
Examination Time 9:30 — 12:15 (165 minutes)

Instructions:

1.

2.

Use a pencil. If you need to change an ansvase your previous answer completely
and neatly. Wipe away any eraser debris.

Mark your examinee information and your answeraccordance with the instructions

below. Your answer will not be graded if you dd naark properly. Do not mark nor
write on the answer sheet outside of the prescipbecks.

(1)

(2)

@)

Examinee Number

Write your examinee number in the space provided,raark the appropriate space
below each digit.

Date of Birth

Write your date of birth (in numbers) exactly assitprinted on your examination
admission card, and mark the appropriate spaceviedgh digit.

Answers

Select one answer (a through d) for each question.

Mark your answers as shown in the following sangplestion.

[Sample Question]
Q1. In which month is the spring IT Passport Examinasonducted in 20167

a) February b) March c) April dMay
Since the correct answer is “c)” (April), mark yanswer sheet as follows:

[Sample Answer]

Q1 © ® ® @

Do not open the exam booklet until instructed to do so.

Inquiries about the exam questions will not be answered.
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Company names and product names appearing in thmieation questions are trademarks or
registered trademarks of their respective compamese that the symbols ® and ™ are not used
within.



Answer questions Q1 through Q41 concerning teclgyolo

Q1. Which of the following is an appropriate combinatiof compression techniques that
are used for still images, moving images, and d&udio

Still image Moving image Audio
a) GIF MPEG MP3
b) JPEG MP3 GIF
c) MP3 JPEG GIF
d) MPEG GIF MP3

Q2. Which of the following is the logical operation thia equivalent to the truth table

below?
Input A InputB Output
0 0 0
0 1 0
1 0 0
1 1 1
a) AND b) NOT c) OR d) XOR

Q3. Which of the following is a standard encoding systlat is widely used for handling
multilingual text and symbols around the world isilagle character set?

a) ASCI b) EBCDIC
c) EUC d) Unicode



Q4.

Q5.

Q6.

Q7.

Which of the following describes the relationsHittis always true for two (2) sets
andB? Here, X 1 Y) represents the part that belongs to bondY (intersection set),
and X U Y) represents the part that belongs to at leasbbKeor Y (union set).

a) (A U B)is a subset of the complement Af() B).
b) (A U B)is a subset oA.

c) (AN B)isasubsetofA U B).

d) (A N B)is a subset of the complement/of

In a queue, three elements 33, 27, and 12 aredsi@e., enqueued) in this order.
After another element 45 is enqueued to the queue.elements are retrieved (i.e.,
dequeued). Which of the following is the secoraent that has been dequeued?

a) 12 b) 27 c) 33 d) 45

Which of the following is an appropriate descriptimoncerning an applet?

a) A document file that is transmitted from a Wete snd saved onto the user’'s PC
when the Web browser accesses the Web site

b) Alanguage that is used for creating a Web page

c) A program that is downloaded from a Web served ambedded into a client
browser, and then executed in the browser

d) A language that is used for database manipulasach as data addition,
modification, deletion, and search

Which of the following is an appropriate descripticoncerning the Java language?

a) lItis a general-purpose language developed yninbusiness applications.
b) Itis a language developed for scientific andieaering calculations.

c) Itis a markup language used for describing hadpes.

d) Itis an object-oriented language that proviglesform-independent portability.



Q8.

Qo.

In a markup language with the purpose of displagrsgreen or printing, it is possible
to directly embed not only the body of a documeut gpecifications of the structure
and layout of the document, and the font and sizth® characters. Which of the
following is classified as such a markup language?

a) CASL b) HTML c) SQL d) URL

Which of the following is the correct comparisontieé amount of data?

a) 1KB<1MB<1GB<1TB
b) 1KB<1MB<1TB<1GB
c) 1KB<1TB<1MB<1GB
d 1TB<1KB<1MB<1GB

Q10. Which of the following is the most appropriate dgston concerning a compatible

CPU?

a) It can runthe OS or the application softwaeg ttan be run on the original CPU.

b) It must not be developed nor manufactured ag &mthe patent of the original CPU
is valid.

c) A compatible CPU for single-core CPU has beeneliped, while one for
multi-core CPU does not exist.

d) Itis a CPU that is intended to improve the perfance of an outdated PC, and is not
adopted for a new model of PC.

Q11. Which of the following is designed to improve theogessing efficiency of a PC by

effectively reducing the time for the CPU to accsesmain memory?

a) SSD b) Virtual memory
c) Cache memory d) Defragmentation



Q12. Which of the following is appropriate as a desaoiptconcerning Plug and Play?

a) When a peripheral device is connected to aaliation and settings of the device
driver are performed automatically.

b) Software for enhancing the functions of appiaratsoftware is installed at a later
stage.

c) Power is supplied from a PC to a peripheral ckevia a cable connecting them.

d) A specific program is executed, and the systemiopmance is evaluated on the
basis of the time taken for the processing.

Q13. Which of the following is the most appropriate exmtion of TCO (Total Cost of
Ownership), which is a major factor when any pusohg decision is made for a
system?

a) Itis the sum of the operation and managemestsdocurred after the installation of
the system.

b) It is the sum of the costs required to troubbesisoftware and hardware faults that
occur after the installation of the system.

c) It is the sum of the costs incurred during thetallation of the system and the
operation and management costs incurred aftengtaliation.

d) Itis the sum of the costs incurred during tinsallation of the system in addition to
the planning phase of the system.

Q14. A total of 60,000 hours have passed since a comgystem was put into operation.
During this operation period, a total of 100 fadsroccurred, and the system was
repaired each time. The last repair was complatethe 60,000th hours. If the
MTTR is 60 hours, how many hours is the MTBF of sigestem during this period?

a) 480 b) 540 c) 599.4 d) 600



Q15.

Q16.

Which of the following is an appropriate explanatof multitasking?

a) Several computers connected via a network halikystem that work together to
achieve a high-performance system.

b) Several processor cores composed of arithmetaits and other control circuits
are implemented in a single CPU.

c) The CPU processing time is allocated to sevpratesses in turn so that the
processes can be executed simultaneously.

d) The same processing is performed for multiplea deems by executing a single
instruction.

The diagram below shows the directory structureafgrart of a certain file system.
Which of the following is the reference from theremt directory D3 (indicated with
an asterisk #”) to the file “a” under the directory D4 (indicated with an arrow)?
Here, files are specified as follows:

[Methods to specify files]

(1) Afile is referenced as “directory name\- - - \dioegtnamel\file name”, where the
directory names on the path are listed and seghnain “\" (backslash) in
sequence, followed by “\” and the file name.

(2) The current directory is represented by “.” (ondqub.

(3) The directory one level above is represented Bytiwo periods).

(4) When a reference begins with “\", it is assumeat the root directory is omitted
from the beginning of the reference.

(5) When a reference does not start with “\”, “.”, ar’*it is assumed that “.\",
which means that the reference is under the cudiegttory, is omitted from the
beginning of the reference.

D1
/\*
=>D4 D5
a) ..\..\D2\D4#a b) ..\D2\D4%a
c) D1\D2\D4wa d) D2\D4wa



Q17. Which of the following is the most appropriate nuethfor restricting the content of
database to display in accordance with the needadf user’s business operations?

a) Setting up access rights based on the combmatidata and user
b) Distributing a copy of the database limited &cle user

c) Setting up a set of data items (columns) deeédctd each user

d) Setting up a password for each record in om@rotect data

Q18. Which of the following is the term for the form ofsing a PC by itself without
connecting it to any network?

a) Thin client b) Single processor
c) Standalone d) Peerto peer

Q19. Which of the following is an appropriate explanatmf plug-in software?

a) Plug-in software bridges differences between,@8d provides more advanced and
specific functions than the OSs.

b) Plug-in software does not work as a standalangram, but can be integrated into
applications, such as a Web browser, to enhanaeftinetions.

c) Plug-in software is often included in applicasosuch as a spreadsheet, and allows
the users to record and replay the series of dpasperformed.

d) Plug-in software is provided to replace part eofprogram for the purpose of
modifying functions or fixing bugs.

Q20. Which of the following is a unit that is used tgoresent “resolution”, one of the
performance indicators of a display or a printer?

a) bps b) dpi c) fps d) psi



Q21. Which of the following is an e-mail software thatan OSS (Open Source Software)?

a) Android b) Firefox c) MySQL d) Thunderbird

Q22. Which of the following is a typical example of asgym operating on a super
computer?

a) A Supply Chain Management system that is reduoelinkage between enterprises

b) A global weather change forecast system thatiires) large-scale scientific and
technical computing

c) A banking system that requires a high reliaypilit

d) An engine control system of a vehicle that reegiadvanced real-time control

Q23. Which of the following is an appropriate examplebehefits of cookies?

a) When a person is registered beforehand as @meawnly e-mails whose content
matches the registered genre and preference avergel automatically.

b) When a search is performed by an Internet seamgine, in addition to the search
results, articles and advertisements with relatedent are displayed.

c) When a link to another person’s blog is pastedrie’'s own blog, a notification is
sent automatically to the person.

d) When a user accesses a website that he/shectessed before, the Web page is
displayed according to the settings tailored to/hen

Q24. Which of the following is an appropriate descpticoncerning the characteristics of
video streaming?

a) Itis mandatory to have the data on the sere@rbhand, and videos of events and
sports cannot be distributed while they are beimaj.s

b) Deterioration in picture quality due to parti@lck of reception data can be
completely eliminated.

c) Preparation time is not required for startingyblack of a video, and therefore, the
viewer can immediately start watching the video.

d) Rather than waiting for the entire video datebéodownloaded, playback starts as
soon as some data has been read.
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Q25. From the “Product” table below, products whose $iepps “CompanyA” and the
price is 1.4 dollars or more, and products whospker is “CompanyB” and the price
is 1.7 dollars or less are extracted. Which of filllowing is a list of all of the
obtained product names?

Product
Product code| Produciname | Price (dollars) Supplier
S001 Chocolate 15 CompanyA
S002 Cake 2.6 CompanyB
S003 Sponge cake 2.9 CompanyC
S004 Apple 1.9 CompanyA
S005 Strawberry 2.2 CompanyB
S006 Melon 2.8 CompanyC
S007 Juice 1.2 CompanyA
S008 Coffee 1.6 CompanyB
S009 Beer 2.2 CompanyC

a) Cake, Strawberry, Coffee
b) Cake, Strawberry, Juice
c) Chocolate, Apple, Coffee
d) Chocolate, Apple, Juice
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Q26. The icon illustrated below, generally called a fesmh, sometimes appears on a web
page. Which of the following corresponds to wha tbon explains?

a) The website provides data in RSS or Atom formdiich outlines information of
updates or a summary of the page.

b) The currently displayed web page is a diary-lk&bsite operated by a person or a
group.

c) The currently displayed web page is bookmarkettié browser on the PC in use.

d) In ablog, when a link has been set up to amdilog), the setup of the link has been
notified to the link destination.

Q27. Which of the following is a communication networkilb in a limited area, such as the
inside of a building?

a) IP-VPN b) LAN
c) WAN d) Wide-area Ethernet

Q28. Which of the following is an appropriate explanataf tethering?

a) Atype of virus that replicates itself and spiseanfection throughout a network

b) A function of connecting a PC to the Internetusing a communication terminal
such as a smartphone like a mobile router

c) A method of detecting a tampering by using ahh&sction and public key
cryptography for electronic data

d) An attack that attempts to illegally manipuldkee information in a database by
deliberately entering an SQL command in an inpltfon a web page
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Q29. Which of the following is a mechanism by which,aif e-mail is sent to a specific
e-mail address, in correspondence to the addiess-mail with the same content is
distributed to multiple e-mail addresses that éneady registered?

a) Web mail b) Chain mail
c) Mailing list d) Reply mall

Q30. Which of the following is an appropriate descripticoncerning encryption of
communication when a website with the URL beginnimith “https://” is browsed

through a PC browser?

a) Only the communication from the PC to the watveseis encrypted.

b) Only the communication from the web server ®RBC is encrypted.

c) The bi-directional communication between the wetver and PC is encrypted.

d) The direction in which communication will be eyjated depends on the settings of

the web server.
Q31. Which of the following is the threat that can bey@nted by encrypting data?
a) Deletion of data because of an operational error
b) Social engineering

c) Tapping of communication content
d) DoS attack on the server in which data is stored
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Q32. The authentication technology is classified inteeéh(3) types, namely authentication
based on one’s possession, authentication base@hgsical characteristics, and
authentication based on knowledge. Which of thdowahg is the appropriate
classifications of the implementation examplestiitpugh (3)?

(1) Authentication using an IC card
(2) Authentication based on an ID and password
(3) Authentication based on fingerprint

1) (2) 3)

a) | Authentication based | Authentication based on| Authentication based on
on one’s possession | physical characteristics | knowledge

b) | Authentication based | Authentication based on| Authentication based on
on one’s possession | knowledge physical characteristics

c) | Authentication based | Authentication based on| Authentication based on
on knowledge one’s possession physical characteristics

d) | Authentication based | Authentication based on| Authentication based on
on knowledge physical characteristics | one’s possession

Q33. Which of the following is an encryption method ofeless LAN?

a) ESSID b) HTTPS c) POP3 d) WPA2

Q34. Which of the following is the most appropriate assat of documents that
comprehensively define the approach to informasecurity of a company or an
organization, sometimes including information ségwstandards?

a) Information security policy

b) Information security management system
c) Social engineering

d) Risk assessment
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Q35. Security risk treatment in ISMS includes risk trf@nsrisk avoidance, risk acceptance,
and risk reduction. Which of the following is arneexple of risk avoidance?

a)
b)
c)

d)

A security measure was taken, which loweregtssibility of problems arising.

The company took out insurance in case a probleses and causes damage.

The risk was confirmed to be small, and it wasided that damage would be borne
by the company when a problem arises.

The company withdrew from the services thatiedrhigh risk.

Q36. Among the following lists consisting of the infortitm security terms availability,
integrity, confidentiality, and vulnerability, wHicis a complete list of characteristics
that are required by ISMS to be maintained for myawization’s information assets?

a)

c)

Availability, Integrity b) Availability, Integty, Confidentiality
Integrity, Confidentiality d) Integrity, Confidéality, Vulnerability

Q37. Which of the following is an appropriate descriptiooncerning information security
education in a company?

a)
b)

c)
d)

Re-education is conducted only when the infoionatystem is replaced.

Education is provided to new employees aftey tieve become familiar with their
business operations.

Education is provided only to employees who asdbe information assets.

The content is changed according to the busiogesations, the roles and the
responsibilities of employees.

Q38. Which of the following is the most appropriate Exmation of the operation that
spyware is meant to perform?

a) To destabilize the operation of the OS and sokw

b) To delete files from the file system without usensent

c) To hijack the browser and forcefully executeagtipular operation
d) To collect personal information without beingined by users

- 14 —



Q39. which of the following is an appropriate informatisacurity measure against harmful
software in a PC?

a) Using a 64-bit OS

b) Maintaining the latest version of the virus défon file at all times
c) Defragmenting the hard disk periodically

d) Saving files after compressing them

Q40. Among the following lists of the Web browsing piiaes (1) through (3), which is the
list that contains all the practices that reduaeisgy risks?

(1) Storing the ID and the password on the web berw

(2) Disabling JavaScript
(3) Logging on to the PC with administrator prigés when using the web browser

a) (1. b) (1), (3) c) (@ d) (2.0

Q41. Which of the following is an appropriate explanatmf symmetric key cryptography?

a) In addition to encryption, it is also used igitdl signatures.

b) The decoding speed is generally slower thanahptiblic key cryptography.
c) The RSA algorithm is a typical algorithm.

d) Adifferent key is required for each communioatpartner.
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Answer questions Q42 through Q56 concerning managem

Q42. Which of the following represents the business @ssahat is described below through

a DFD?

[Business process]
1. In daily business activities, the person in ghasf accounting files the vouchers that

are issued in each department of the company ouaher file.
2. When the settlement of accounts starts, theopers charge of settlement and the
person in charge of verification aggregate thedfil@uchers separately, and two

results are compared.

voucher

Voucher file

Person in
charge of

settlement
aggregates the
vouchers

Person in Person in
charge of charge of
verification settlement Fili
aggregates the aggregates the ! 1rl11g
vouchers vouchers voucher
Comparison
of Person in
aggregated charge of
verification

results

aggregates the
vouchers
Comparison

of aggregated
results

C) Person in d) Person in Person in
chalrge of Person in charge of ;l:?lieiieonft Ch,atf ge of
sett emenlh verification aggregates the averevates the ven 1catlorl11

aggregates the vouchers g% » l%chers ag%r(i‘;gcaltlgst e

vouchers

Comparison of
aggregated results

Filing
voucher

Comparison
of aggregated
results

Filing
voucher




Q43. Which of the following is the most appropriate aitjee of introducing SNS in an
enterprise?

a) To reduce employees’ labor for scheduling, sagcketting up meetings

b) To reduce the cost and time of business tripbdyng relevant persons at one (1)
location in each office, and conducting a meetirtglevthe meeting attendees and
material are displayed on a screen

c) To form human networks, which are beneficialdasiness, through communities on
network

d) To reduce the labor for carrying documents i@ ginocedures involving multiple
employees, such as managerial approvals.

Q44. Which of the following is an item that is determin&hen computerization planning is
created on the basis of a company'’s informatiotesystrategy?

a) Development schedule b) Management objectives
c) Input and output screen layout d) Hardware gumétion

Q45. Which of the following is the appropriate proceddog selecting a contractor for
system development?

A: Issuance of RFP B: Conclusion of contracting agreement
C: Determination of contractor ~ D: Evaluation of proposals

a A—-C—->D—B b) A~D—->C—-B
cc C-A—-B—->D d C-B—->A—-D

Q46. When the software life cycle is divided into tharmpting process, requirements definition
process, development process, and operation prosgssh of the following is an
appropriate activity in the requirements definitimocess?

a) Business process and system transition b) Ctampation planning
c) Software detailed design d) Stakeholders’ nadelgtification
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Q47. Which of the following is the most appropriate pasp of creating an RFP?

a) To provide the estimated outsourcing amount eéaders when development is
outsourced

b) To obtain information about the most appropriativanced technology for future
system development

c) To standardize procurement procedures, such-bsuse production, development
outsourcing, and product purchase

d) To request a written proposal to vendors, amda@piately select an outsourcee

Q48. For software that started full operation on Januaryast year, the number of
maintenance activities was added up for each mfvath January to December, and
the result is shown in the graph below. Which bé tfollowing is the most
appropriate set of maintenance activities corregpgnto factorA in the graph?

f —

Number of maintenance activities
of software

A\

Januany
February
March
April
May
June |
July
August
September
October
Novembe
Decembef

Number of activities not corresponding to factor

1

Number of activities corresponding to facgor

a) Activities concerning a hardware upgrade that pexformed in June last year
b) Activities responding to requests for improvemansoftware

c) Activities responding to initial failures of $afare

d) Activities concerning data addition that is penied every April
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Q49. In the process of system requirements definitiomictv of the following is an
appropriate evaluation criteria for system requeata?

a) Consistency with results of system integratest t
b) Consistency with needs of system users

c) Appropriateness of the design method used

d) Coverage of test cases

Q50. Mr. A, a participant in system testing, prepares terhimpait data and form output data
for major transactions in the department for puepo$ verification. Which of the
following is the testing technique that Myis seeking to implement?

a) Inspection b) Walk-through
c) Black-box testing d) White-box testing

Q51. A company creating an information system for itshavge outsourced the development
of the system. Which of the following is an apprafg description concerning the

acceptance testing?

a) If the contractor does not report defects insigstem testing, the company will
accept the system, without performing acceptarstentg

b) The company must ask the contractor to planiaptement acceptance testing.

c) The company will perform acceptance testinghwiipport from the contractor.

d) The company will perform acceptance testing, #ra contractor will judge the
pass/failure of the results.
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Q52. Which of the following is an appropriate descripticoncerning the water fall model
known as one of software development models?

a) It is a technique in object oriented developnfentmaking improvements through
trial and error by repeatedly going back and faxthween design and programming.

b) It is a technique for making improvements byeapg the development process for
each subsystem while responding to requests frarsus

c) Itis a technique that divides the processesystem development into stages, and,
based upon the output of previous processes, pesfater processes in order.

d) It is a technique that creates a prototype atamty stage of system development,
and determines requirements and specifications imithit from user comments.

Q53. Among the following lists of descriptions throughD, which is the list that contains
all appropriate descriptions concerning quality agement in information systems?

A: Continuous initiatives according to the PDCA eydre effective in improving
quality.
B: Systems with more functions are of higher quality

C: The cost of preventing defects is generally thas the cost of correcting bugs when
they occur.

D: Quality can be increased through appropriategtesind implementation.
a) AB,D b) A C c) ACD d CD
Q54. Which of the following is a diagram that hierarcllg breaks down the activities

executed by a project team into elements?

a) DFD b) WBS
c) Arrow diagram d) Milestone chart
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Q55. Quality management in system development projeassahquality planning process,
which defines quality requirements and quality deads for deliverables and specifies
the methods for achieving them. Which of the follogvis appropriate to this quality
planning process?

a)

b)

c)

d)

If deliverables are not exactly the same asetlodpast system development projects,
past quality standards cannot be used as reference.

Since schedules have the highest priority inpedjects, it is acceptable to shorten
the period for reviewing and testing for achieviagget quality.

Quality should have the highest priory in albjects, and, to enhance the quality of
deliverables, constraints should not be placedcerbtidget.

The effects by reductions in reworking, improwhin productivity, improvement
of stakeholder satisfaction, and others broughtiaby activities to achieve targeted
quality, and their required costs are to be contghare

Q56. In service level management, continuous improveni@nthe response time agreed
upon between the service provider and user isezhout through the processes shown
in the Figure. Which of the following is done dugimonitoring?

Agreement upon
service level

—>Monitoring—> Review [—=] Improvement

A |

Watching response time

Evaluation of the actual response time
Shortening of response time

Setting and changing of objectives of respoimse t
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Answer questions Q57 through Q88 concerning styateg

Q57. Which of the following is an explanation of fagfimanagement?

a)

b)

d)

It refers to the monitoring of compliance withA$ and their periodical reviewing,
for the purpose of maintaining and managing IT iserlevels.

It refers to a method for optimizing ownershgperation, maintenance, etc. of
buildings and physical IT infrastructures from aimgss standpoint.

It refers to the continuous improvement of basgprocesses to increase the quality
of products and services.

It refers to sharing and managing informatiomoas the departments and the
companies that participate in the series of pra&ef®m component procurement to
manufacturing, distribution, and sales.

Q58. Within IT service management, IT service continumyanagement is an activity for
minimizing negative impacts of disasters, etc. asitress. Which of the following
corresponds to the A (Act) of the PDCA cycle ins@rvice continuity management?

a)

b)

d)

Creating recovery plans that define recoveryhous for the continuation of IT
services

Implementing regular education and training &aff members, assuming that
disasters occur

Reviewing and testing the content of recoveanplto verify them

Revising recovery plans if necessary, basedhemdsults of reviewing and testing

Q59. A company implements service level managementherdperation of a new system.
Which of the following is an appropriate descriptiooncerning the goals of service
level management?

a)

b)
c)

d)

A third party independent from the users andptwvider monitors the service to
prevent degradation of the service level.
The users and the provider agree on the selewed and maintain and improve it.
The quality level of the provided service issel, on the condition that no additional
cost is incurred.
The users determine the level to which the mlediservice contributes to the
business.
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Q60. In IT service management, which of the followingappropriate as a process for
resolving the root causes of incidents and premgrtieir recurrence?

a) Incident management b) Change management
c) Problem management d) Release management

Q61. Which of the following is the term for the assignthef employees’ role that applies
mutual restraint among employees for the purposedcing the risk of misconduct
or errors in work from the standpoint of internahtrol?

a) Delegation of authority b) Segregation of duties
c) Monitoring d) Diversification of risk

Q62. Which of the following is an appropriate descripticoncerning evaluations in systems
audit?

a) Areas for which there is no audit evidence aeduated through inference.

b) Evaluation must be based on audit evidence.

c) Evaluation is performed according to the vielthe system user department.
d) Evaluation is performed according to the vieWwthe audited department.

Q63. Which of the following is the most appropriatesasethod for verifying that controls
for information system risk are properly implemeh#and operated?

a) BCP b) ITIL
c) IT governance d) Systems audit
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Q64. The fixed cost necessary for production and safeproductA is 30 million yen
annually. When the unit price of produktis 20,000 yen, and the variable cost per
unit for production and sales is 5,000 yen, whalhéssales quantity of produétat the
break-even point?

a) 1,500 b) 2,000 c) 4,000 d) 6,000

Q65. Which of the following is the list containing alié items that necessitate the decision
of a stockholders’ meeting?

A: Election of an auditor

B: Determination of corporate merger

C. Enforcement of an enterprise strategy
D: Election of directors

a) A B,D b) A C c) B d CD
Q66. Which of the following is the person who audits th@ancial documents that are
created by a company?
a) Accounting auditor b) System auditor
c) Legal profession d) Certified tax accountant
Q67. Which of the following is a method of education aralning by which the techniques

and knowledge required for working are masteredutin daily work experience?

a) CDP b) e-learning c) Off-JT d OJT
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Q68. ProductX is manufactured under the conditions describedvbeWhen the yield of
Componenty and Componerf is as shown in the table below, how many kilograms
of raw material amound of Componenl is required for manufacturing 300 units of
ProductX? Here, the yield of Product is 100%, and all components are newly
manufactured.

[Manufacturing conditions of Produx

* One (1) assembled productonsists of three (3) units of Compon¥rdand one (1)
unit of Componenk.

* Component and Componeri are manufactured from respective raw material.

* One (1) unit of Component or ComponenZ can be manufactured from one (1)
kilogram of the raw material respectively.

Component | Raw material Yield Number of completed
type amount components
¥ kg| 90%
VA 600 kg | 50% 300 units

Note: The shaded part is not shown.

a) 225 b) 250 c) 900 d) 1,000

Q69. Which of the following is an explanation of a fuioctal organization?

a) Itis an organization that is formed only fdiixa@d period of time by collecting only
the functions necessary for resolving a problend, iardissolved when the problem
is resolved.

b) It is an organization in which business operaiare divided into expert functions,
and each function is configured as a unit.

c) Itis an organization that is configured to bt profit responsibility of the business
with a product or region as a unit.

d) It is an organization that is formed to haveestical and a horizontal structure by
combining together units such as the product andtions.
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Q70. Which of the following is an explanation of a volaricense agreement on software?

a) It is an agreement in which a master copy dfwswe is provided to customers,
including companies, who purchase the softwaregh tiolume, and the number of
permitted installations is defined in advance.

b) Itis an agreement in which the location of isseestricted to a specified facility, and
the software can be used without limiting the nunmdifecomputers or users in the
facility.

c) Itis an agreement in which the use of softwargermitted by accepting the terms
and conditions of the contract displayed on theeestrwhen the software is
downloaded from the Internet.

d) Itis an agreement in which standard licengiogditions are defined and a license
agreement is automatically considered to be coedumktween the right holder and

the purchaser when a certain amount of packagewsapped.

Q71. Which of the following is the coding scheme thaihcencode a large amount of
information into a small area and has an erroremion function that enables the code

to be read out correctly even when the code camapiartially read out?

a) ISBN code b) ITF code
c) QR code d) Unicode
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Q72. Which of the following is an example of an NDA (N@isclosure Agreement)?

a)

b)

d)

A contract specifying the service content topbavided, which is agreed between
the service provider and the customer before theigion of the IT service

A contract specifying that the vendor of comp@tguipment bears the responsibility
of transferring the property right, and that theydnubears the responsibility of
paying the price

A contract, specifying the obligation of the smircer and outsourcee to maintain
confidentiality of the secret information of thénet party that become known to the
other party during system development

A contract specifying that a person to whom itistallation of a general-purpose
package has been outsourced performs the tasksétiehiown discretion and
responsibility, and receives payment upon the cetigyl of the task

Q73. Among the lists of corporate activitidsthroughD, which of the following is the list
that contains all activities concerning the essditient of compliance?

o0 w2>

Supporting fine art and cultural activities

Training employees in the codes of conduct
Performing activities for prevention of globalsaetification
Creating a mechanism of internal reporting

A B b) AC ¢) B,D d) C,D

Q74. From the viewpoint of corporate governance, whié¢hthe following is the most
appropriate method of strengthening the functiohsonitoring and supervising the
decision-making process of the management?

a)
b)

C)
d)

Installing a camera for monitoring the entry and of the president’s office
Periodically requesting a private detective twestigate the conduct of the
management

Appointing some outside directors

Employing law school graduates as members oifitieenal audit department
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Q75. Which of the following is the most appropriate exgdtion of TOB?

a) For the purpose of capital participation andu@itjon of management rights,
purchasing stocks outside of the stock market flange number of shareholders by
advertising the desired number of stocks, priceetiimit, etc.

b) For the purpose of acquiring management righisshasing stocks and management
assets from the parent company, etc. by top manaxgesind executive employees

c) For the purpose of procuring funds required business, making new stock
offerings on the stock market

d) For the purpose of executing social responsigsli not only pursuing profit but also
contributing to society and taking the environmietd account

Q76. Which of the following is an appropriate explanataf BSC (Balanced Scorecard)?

a) An accounting report that expresses the statdundl procurement and fund
management for a specified period

b) An analytic method to reliably achieve requifedctions at the lowest overall cost

c) A corporate performance evaluation method thatrried out from the standpoints of
finances, customers, internal business procesdeanidng and growth

d) Electronic commerce transactions conducted twempanies and consumers

Q77. Which of the following is an appropriate examplebafsket analysis, which analyzes
customers’ purchasing behavior?

a) Analyzing the relationship between sales proomoéixpenses and net sales, for each

product sold at a grocery store
b) Analyzing the products that customers at coremse stores purchase in

combination
c) Analyzing the profitability of each product cgtey sold at a supermarket
d) Analyzing the store visit frequency and purcheasee of supermarket customers
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Q78. In product portfolio management, where products bodiness to be analyzed are
classified into cash cows, stars, dogs, and questiarks, which of the following is the
appropriate combination of indexes used in theaadraxis and horizontal axis?

A: Customer retention rate B: Market size
C: Market growth rate D: Market share
a) AB b) AC c) B,D d C,D

Q79. The business operations of the entire company, asgroduction, sale, procurement,
accounting, and human resources are to be managad integrated manner, and the
management resources of the entire enterprise catee toptimized. Which of the
following is an appropriate information system iimplementing this objective?

a) CRM system b) ERP system
c) HRM system d) MRP system

Q80. In CompanyX, daily drainage treatment activities are handid] at the same time
new processing equipment is designed by documendéind accumulating the
experience and know-how of employees who have nahdgpinage treatment in the
factory over a long period of time. Which of thdldaing is appropriate as a concept
of this example?

a) ERP b) SFA
c) Supply chain management d) Knowledge management
Q81. Innovation can broadly be classified into proces®vation and product innovation.

Which of the following is appropriate as a factbpooduct innovation?

a) An efficient production system b) Supply chaiamagement
c) Market needs d) Value chain analysis
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Q82. Which of the following is an appropriate generafridor computers that are embedded
in home electric appliances, such as a microwaes ov a rice cooker?

a) Handheld computer b) Micro computer
c) Mini computer d) Mobile computer

Q83. A factory is engaged in assembly production of pod@ that consists of components
A andB. The processing of componehtrequires componer@, and the processing
period is one week. The delivery lead times ofchased componen®& andC are
two weeks and three weeks, respectively. ProBucan be assembled in one week
only after componenta andB are both delivered. What is the minimum number of
weeks required to produce one unit of prodeicincluding the delivery periods of the
components? Here, there is no stock of any ofdimeponents.

a) 4 b) 5 c) 6 d 7
Q84. Among the characteristics required for an embedystem, which of the following is
the most appropriate terminology used when a cenpabcess must be completed
within a given period of time?
a) Availability b) Reliability
c) Real-time ability d) Serviceability
Q85. Which of the following is a form of e-commerce asponding to an online bookstore

or an online shopping mall that is constructedridividuals on the Internet?

a) BtoB b) BtoC c) CtoB d CtoC
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Q86. A company wishes to optimize its inventory levela@imponents on the basis of the
delivery date and manufacturing volume of finalgurot. Which of the following is the
most appropriate policy for achieving this objeeftv

a) Construction of a CRM system b) ConstructioamMRP system
c) Construction of a POS system d) Constructioano§FA system

Q87. Which of the following is an appropriate explanatiof the SEO, which is used in the
Internet?

a) It is a mechanism of transmitting informationtbe Internet through encryption in
order to secure personal information, such asrgitccard numbers of customers.

b) It is a community-type service whose purposeoisenable the participants to
introduce their friends and acquaintances to gblasticipants, and establish a social
connection on the Internet.

c) Itis a management information system whose ggeps to secure and maintain the
strategic superiority of an organization througtifedentiation and qualitative
improvement of business.

d) Itis a method with which, when a user perfoarieeyword search on the Internet, a
specific website is displayed at higher positiothia list.

Q88. In order to reduce the lead time of product devslept, CompanyA in the
manufacturing industry shares the design infornmaltietween processes, and starts the
later processes that can be started while thequrs\processes have not yet completed.
Which of the following is this concept based on?

a) FMS b) MRP
c) Concurrent engineering d) Just-in-time
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Answer questions A through C, each of which has fuestions.

Question # Read the following description concerning a projéar improving a
product, and then answer the four questions.

To differentiate itself from its competitors, CommgaX, a machine tool manufacturer,
decides to improve upon currently manufacturingdodZ, and launches a project for it
(hereinafter called “ProjecZ”). Mr. A, who is working in the product development
section, is chosen as a member of Prgfe@nd is given an explanation of the status of
ProjectZ and the risks of Proje (hereinafter called “risks”) by his senior, N&.

[Status of ProjecZ]

(1) As compared to a project of the same size wakien in the past, the number of
project members is the same, but the time peripdagcted to be half.

(2) The task of specifying the functions to be ioy&d is managed and completed by
the product planning section.

(3) It has been decided to make the maximum passibé of the components and
embedded software of the current ProddciThe selection of components and
software to be used is complete.

(4) New components will be developed by members tdnee developed the current
ProductZ.

(5) New software will be developed by members hgviless development
experience.

[Description of risks]
(1) Risks refer to various events that may occuinguthe project, and have an
impact on the delivery date, cost, and quality.
(2) The probability of occurrence of risks and #dent of impact differ for each
project, and change during the course of the projec
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Due to a risks with a large impact in point (5)[8fatus of ProjecE], Mr. A thought
that it was particularly important to perform schldmanagement in order to make sure
the quality test of the prototype was performedtiome, and thus consulted MB.
Thereafter, MrA was presented with the arrow diagram shown inreiduby a member
in charge of developing the software. He noticeat the risks that could occur in the
event of a delay in the development have not bakentinto consideration, and thought
that it would be necessary to take some measures.

Preparation
@ activity \/2\ Activity 1 \/4\ Activity 4 @
5 days 20 days 10 days

Activity 2
15 days

Activity 3
15 days

Figure 1  Arrow diagram for software development

[Management]
Q89. If no delay occurs, what is the minimum number ai<l required to complete the

software development shown in Figure 1?

a) 35 b) 40 c) 45 d) 65

[Management]

Q90. Mr. A thought that point (5) of [Status of Proj&gtcould result in failure of the project,
and decided to take preventive measures beforee@dony with the development.
Which of the following is one (1) of the appropedaireventive measures?

a) Creating the schedule of the current Projedby referring to the schedules of

projects undertaken in the past
b) Collecting the design specifications of softwénat can be used from the current

products
c) Creating a list that compares the functions rfdBctZ after improvement and the

functions of similar products of competitors
d) Educating the software development members wstiftware development

techniques they lack
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[Management]

Q91. Mr. A thought that point (5) of [Status of Projedt could result in a delay in the
development schedule, and compiled the estimatéaly dé a workaround is not
implemented, and the cost of workaround. If thera possibility of a delay in the each
activity, what is the minimum cost in yen for implenting workaround to complete
the activities as scheduled within the minimum nemiof days of software
development shown in Figure 1?

Estimated delay Cost of workarourjd
Activity 1 + five (5) days 250,000 yen
Activity 2 + three (3) days 150,000 yen
Activity 3 + two (2) days 150,000 yen
Activity 4 + two (2) days 50,000 yen
a) 300,000 b) 350,000 c) 450,000 d) 600,000

[Management]

Q92. Mr. Aiis instructed by MrB to examine if there are any more risks with adargpact
other than point (5) of [Status of Projegt Which of the points (1) through (4) of
[Status of Projecf] has a risk with the largest impact?

a) (1) b) (2) c) (3) d) (4)
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Question t Read the following description concerning improveimein the
transportation expense reimbursement, and thenearibe four questions.

In CompanyA, which is an advertisement agency, transportapenses incurred by

customer visits are reimbursed by submitting asjpantation expense reimbursement
form (hereinafter, form) to the accounting deparime

[Flow of current transportation expense reimbursgngeration]

(1) The applicant enters his/her name, his/her eyggl number, expense code,
customer numbers, travel date, description, amaunt,the total amount. After it is
signed, the form is sent to the office staff member

(2) The office staff member checks the applicationdetail. If there is no mistake,
he/she sends the form to the approver. If theeensistake, the form is returned to
the applicant.

(3) The approver gives the final approval or disapgl. If the content is appropriate, the
form is approved and sent to the office staff memlbehe content is inappropriate,
the form is disapproved and returned to the apqiica

(4) If the form is returned in (2) or (3), the ajppht corrects the form and submits it
again to the office staff member.

(5) The office staff member puts together the appdoforms of that day that have been
sent from the approver, assigns reference numaedssends them to the accounting
department.

(6) The accounting manager settles the paymenteoapproved forms that have been
sent from the office staff member.

In order to efficiently perform the transportatioexpense reimbursement, a
transportation expense reimbursement system (latein“reimbursement system”) is

constructed. The system uses a database and id basthe functional requirements
shown below.
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[Some of the functional requirements of the reinsleanent system]

(1) Logging on is performed by using the employeenber. The applicant name is
identified in the employee table using the emplayember, and the name is set as a
common item on the form screen.

(2) Customer numbers, travel date, description,andunt are entered as the details to
the form screen. The details of several customsitsvcan be entered in a single
submission. Moreover, the total amount is calcdlatee expense code is set, and
the reference number is assigned automaticallye Hee transportation expense is
set automatically as the expense code.

(3) After the submission, the office staff membkecked in detail, and a notification is
sent automatically to the approver. The approvdecte either “Approve” or
“Disapprove” on the final approval screen.

(4) On the payment screen, the approved submisarenaggregated for each employee,
and the payment amount is calculated.
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[Strategy]

Q93. A diagram has been created to show the flow of tlansportation expense
reimbursement. Which of the following is an apprafg combination of terms or
phrases to be inserted into blakthroughC in the flowchart?

Applicant Office staff member Approver Accounting manager

H

o ]
—
o ]
L1

)’

Form
\_{_\

Payment

Note: The shaded part is not shown.

A B C
a) Numbering Approval Correction
b) Correction Approval Numbering
c) | Detailed checking  Approval Numbering
d) | Detailed checking Numbering Correction
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[Strategy]
Q94. Even after a reimbursement system is installed esofthe current form contents that

are checked in detail by the staff member cann@lib@nated. Which of the following
cannot be eliminatéd

a) Expense code

b) Total amount

c) Applicant name and employee number
d) Amount and description

[Strategy]
Q95. The database of the reimbursement system is userkébe a transportation expense

data table (hereinafter, “data table”) sorted bgtomer and employee, as shown in
Figure 1. Which of the following is an appropriatep to be inserted Id for creating
the data table? Here, the forms to be written endhta table are those for which the
application date is the previous month and the@@rtype is “Approved.”

Moreover, the tables used in the reimbursemenésysare as shown below in Figure 2.

[Steps for creating the data table]
(1) From the work sheet, extract data for which siibmission date is the previous

month and the approval type is “Approved.”

D

(4) Join the table in (3) with the employee tablel dhe customer table in order to
acquire the customer name and the employee name.

Customer_numbgrCustomer_namg¢Employee _number Employee _namé¢ Amount

000100 CorporatioB | 2005123 Taro Tanaka 2,500

000100 CorporatioB | 2006211 Taro Suzuki 4,300

Figure 1 Example of transportation expense déle &orted by customer and employee

— 38 —



Work sheet

Reference .
T Submission_datg Employee_numier  Approval_type
number
Details table
Reference _ L
b T Detail_number | Customer_numbeilravel_date| Descriptionf Amou
number

Employee table

Employee_number Employee namjd

U

Customer table

Customer_numberCustomer_nam

b Address

=

Telephone_numbsg

Note: The primary key is not displayed.
Figure 2 Tables used in the reimbursement system

a) (2) Join the table created in (1) and the detalble by matching reference number.
(3) From the table created in (2), calculate th@wlt@mount for each pair of
customer number and employee number, and creasbla with customer
number, employee number, and total amount.

b) (2) Join the table created in (1) and the detaible by matching reference number.
(3) From the table in (2), calculate the total amtdior each customer number, and
create a table with customer number and total aimoun

c) (2) Join the table created in (1) and the detaible by matching reference number.
(3) From the table in (2), calculate the total amtdor each employee number, and
create a table with employee number and total atmoun
d) (2) From the details table, calculate the ta@walount for each pair of customer

number and employee number, and create a table eugtomer number,

employee number, and total amount.
(3) Join the table created in (2) and the tablatedtin (1) by matching reference

number.
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[Strategy]

Q96. The work time of each manager is sampled before adtet the installation of the
reimbursement system, the result is shown beloww Hiwany hours is the total
reduction in work time of Compank per one (1) month on the basis of the result?
Here, the working days of Companyis 20 days per month, and the average number
of submissions in Comparyis 10 times per day.

[Result of sampling]
(1) The time required for one (1) submission isuEt from 12 minutes to three (3)
minutes.
(2) The total time that office staff members spefut transportation expense
reimbursement in one (1) day is reduced from 48uitemto 16 minutes.
(3) The time required for an approver to approve application is reduced from 72
seconds to 12 seconds.
(4) The total time that accounting managers spead tfansportation expense
reimbursement in one (1) month is reduced fromdl$ito one (1) hour.

a) 29 b) 44 c) 56 d) 152
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Read the following description concerning tabulatiof a monitor
survey, and then answer the four questions.

To develop a new product, compaRyhired 100 monitors and conducted a market
survey. For three (3) items of performance, praogd design, the monitors were asked
whether or not they attached importance to eadheasfe items and they responded “Yes”
or “No.”

Responses received from monitors were registerdtieérnresponse file in the record
format in Figure 1.

Monitor_name Performance Price Design

Figure 1 Record format of the response file

In the record items “Performance”, “Price”, and 4ign”, 1 was recorded if the
response to the question was “Yes”, and 0 was dechif the response was “No”.

The command below can be used to display the nuofbecords in the response file
that matches the condition.

Display_number_of_records(condition)
Here, a complex condition, which is a combinatidn“‘and”, “or” and [ ], can be
specified for the condition. In the evaluation bétcondition, the condition inside the
brackets [ ] has priority. In addition, anotherddn be specified inside [ ].

Table 1 shows the results of the command with usrimonditions.

Table 1 Result of executing the command

. Results of Display_number_of_recorgls
Condition
command
Performance=1 55
Price=1 60
Design=1 45
[Performance=1] and [Price=1] 30
[Price=1] and [Design=1] 25




[Technology]
Q97. Which of the following does the command below casfl

Display_number_of records([Performance=1] and [@&sD])

a) Number of monitors that attach importance td lpsrformance and design

b) Number of monitors that attach importance togdormance, but not the design

c) Number of monitors that attach importance theziperformance or design

d) Number of monitors that do not attach importataceeither performance nor design

[Technology]

Q98. The sets of persons who attach importance to pedoce, price, and design are
respectively called the “Performance set”, “Prie#”,sand “Design set”. They are
shown with the Venn diagram given in Figure 2. WWhi¢ the following are the regions
in the Venn diagram that match with the conditibthe command below?

Display_number_of records([[Performance=1] or [€xit]] and [Design=1])

“Performance set” -

% -1~

“Price set” - "1 “Design set”

Figure 2 Venn diagram

a) ABE b) ACF ¢) B,D d CD,F
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[Technology]
Q99. From the results of Table 1, which is displayed mttee command below is executed?

Display_number_of records([Performance=1] or [Rride

a) 60 b) 70 c) 85 d) 115

[Technology]
Q100. Which of the following is the command that gives thkame result as the result

obtained with the procedure given below?

[Procedure]

(1) Execute Display_number_of records(Price=1),lahthe displayed result ve

(2) Execute Display_number_of records([Performaa¢esnd [Price=1]), and let the
displayed result be.

(3) Execute Display_number_of records([Price=1] afidesign=1]), and let the
displayed result bg.

(4) Execute Display_number_of records([Performat¢e=and [Price=1] and
[Design=1]), and let the displayed resultze

(5) Calculaten —x -y +z

a) Display_number_of records([Performance=0] amat¢21] and [Design=0])
b) Display_number_of records([Performance=0] orcg21] or [Design=0])
c) Display_number_of records([Performance=1] arrtc§20] and [Design=1])
d) Display_number_of records([Performance=1] oicg0] or [Design=1])
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